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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used thrdughout the paper.
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Question No. 1 is compulsory. Attempt any four of the remaining seven.
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1. - Write short notes on any /wo of the following :
(«)  Nominal and Real GDP
(h)  Government Spending Multiplier

(¢y  Transactions Demand for money. ' 7.5+7.'5
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frefifen & @ frd & W dhw S fafeu .

(%) WfiF o aRaEE GDP -

(@) TR =99 U
(M) ¥R & faw mqg & A
(u)  Discuss Circular Flow of Income in the context of a Four-Sector Economy. .~ 7.5

(h)  Lixplain the relationship between Investment Multip]ier and Marginal Propensity

to Save (MPS). ' 7.5
(%) IR G wdoreen & HeW 0 A & W WA %l el Hi |
(@) dm = wafe (Mps) @ FEw T «‘%aﬂa TaY & A aﬁﬁm
H.ow is the National Income calculated using Income Method ? _ 15
mﬁfamr@amﬁmmmaﬁm%?
Giiven the following for an Economy :
Consumption Function C = 85 . 0.5Y,
lnv'estment Function [ = 85
Government Spending G =60

Net Taxes T = -40 + 025 Y
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Disposable Income Y, =Y - T
Equilibrium Y =C + [ + G

Solve for equilibrium income. How much does the Govt. collect in Net Taxes when the Economy

is in Equilibrium ? What is the Government Budget Deficit or Surplus ? , 15
@ s % fo Pt o T #

TP HE C - 85 4 0.5 Y, -

a9 w1~ 85 |

’H{aﬂﬁ TG - 60

UG FLL - 40 5 025 Y
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Hde1 Y = C + 1 + G-
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(«)  What is *The Paradox of Thrift” ? : o 7.5

(h) . Given the Consumption Function C = 200 + 0.8 Y and Investment I = 100,
AE = C + I and ALl = Y. Determine the equilibrium level of Income. What is MPC
‘e_md Investment Multiplier here ? ' : 7.5

(F) ‘o w1 foRmyE’ F@moy ?

(@) feu MU UG ®eAT € = 200 + 0.8 Y TA T [ = 100, AE = C + | q<
AE — Y 3™ &1 GqeF R fwifta # 1 w wvpc R FRw e @
g ? ‘
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i-xplain the equilibrium in money market. How does the change in Money Supply affect the

Interest rate ? ' ' 15
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Discuss the Saving-Investment Approach to equilibrium in a Two-Sector Economy. 15

Qe sdea H ued & aga-faw giew & 9=l wife |

~ Ixplain the concept of Money and its functions. 15
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